§§u§3§560 113 & 2> 5% 4 ﬁ B 4 St -"'5“’# P‘é\"é%\

JE

ML (—>7,—M FLTIIEE -
D7 LA R PRATAL PR RBITAR A L o TRGEILE IR 0 7 A
(—H"TJE fg]ﬂﬂ ;s&gggl_;};\‘k iR AR FITE o

— o EaBE s MVI2=p AR V220 B P pt Ak BA AL kKRG A
h: 7J<;;;1 Vi ahBiEg R o EE 4 (v johm(z)gdz: p Ag[ zdz 3l 5
vk Y gl E A L E R o ABBEERL P (104)

S~ U R RGE KfET s ande a2 425% (Eikonal Equation) » (20 &)

{8T(x, Y, Z)T{GT(X, Y, z)} {8T(x Y, z)} 1

ox oy 0z VZ(x, Y, 2)
PR ET(X Y, 2)=T,(%)+T,(y)+T,(2), %:gx(x)+gy(y)+gz(z)
vi(x, ¥, 2)

A

dio™ % ,Ew & A a‘?—%’.—‘f S g fes E= (% -m
N
)

I

B
*
o

—m,
gu Pl it fico @ % 3R 4 T 3 Afrk whu&éﬁzﬁz &P(m1>
A (my)e (20 %)

bl
7‘
R4

I%




% 2% 138560
Foki2-2

v

N A BEl iR el R F AR
oxx=2PSl, oy =2pSsi, o, =1psi
oxy=—1psl, oy, =0psi, o, =0psi
(2 3XI AL F IR P LT A8 auf@z{ o (5 4)
O it 3%3 'TF"‘E—I—’J”J%*‘J*V{IB B I R A KT gL PR A e R A 0(54\>
O LE B4 BT R4 R Fee £ 0 T AR e
‘Lo (10 4 )

T EBREMFRTRES 1 MR AS az= (1, 0.6, -0.4, 0.2, -0.1)
b = (1, -O.Z)ﬁﬂﬁf ( Convolution) % & ? (15 & )

AT B Ci= Z a - b. kAt_ Z a, - b|—k » At =1

k=—o0 k=—o0
51
A MBI A S [ 2| Lipsko T RO n s R A S|SB E -

Sn

Al 61
- s = v AZ 92 Y 2 N\
OEmEE A SHmgs | 2 | i 2 msiwe (54)

An Qn

OF AT A 7| S' L S pravdk (k&R 5 9) RIFR A7) S 4534
E'JS ]—,blr-' ‘?Bi:F’&}f}.;lJS b"ismfﬁglﬁ}‘;,?? (5/n\>
04

EF RPE S w st s 2 | pS i (54)
0,



